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SR HIIE SEXCAE 2 (el &)
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SE A A 1,422,474 1,448,682 A 26,208
HII= ?I48H2 Xl 557,190 459,962 97,228
HYIZ2 SeXclAld 22 482,168 341,354 140,814
HIOIZ SEHM2IAlE 2l 482,168 341,354 140,814
101 @124 H| 44,478 0 44,478
04 DIt 22 S ES 44 478 0 44,478
O3 XN2AH A = =M
39,0003 x5 x32 *23] 1,170
ONgEsd8d 2| 6,592
—Jl=s 39,000 126 «1H 4,914
—ReER¢sE 39,0003 x26 L «1H 1,014
— Aol 7, 375363 «15A1 2+ 664
Ot30letd 21| 36,716
—Jl2s 46,0403 x252 1L 11,603
—Jlgsdg 1,537,000 50%+43] 3,074
—d2=¢ 1,537,000& x50%+*23] 1,537
- s 80,000 *12&«1H 960
— M 1,537,000 50%+*52] 3,843
— SR 90,000& 128+ 1 1,080
B R =y 70,0003 x 122~ 1L 840
—gASAH 160,000 «12& x1H 1,920
— A2 &4 110,000& « 128 1 1,320
—wWS2 A 140,000& 128 1 1,680
—HE S0 1,537,000 *60%+22 1,845
—ZU2RE 5,755@ x150%*30Al 2t 12& 3,108
— 59422 46,0403 150%*4+ 123 3,315
—AAxt=E 46,0403 x 10«1 461
— Il =4 130,000& 12/ 130
201 Zer24E| 136,561 120,296 16,265
01 A2 2 2ldl 29,345 13,080 16,265
oz 13,080
O AL (OrE) EIIBMN =58 16,265
02 SE=24H 107,216 107,216 0
OB 107,216
202 (44l 2,000 2,000 0
01 SLHAbI 2,000 2,000 0
OsZEHJI= SeXH2YR =& 2,000
206 M= 4l 19,233 17,618 1,615
01 =4l 19,233 17,618 1,615
OH=+=Xcl+3 15,148
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SR HIIE SEXCAE 2 (ehel: =3
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
—Jtd At 850& *10kg*365 3,103
—EHABHE 4503 +20kg*365 3,285
—=JIETH 8,000 *3kg*365 8,760
OlEd A=4Z 35,000% %523 24 A 3,640
OMEE S| HayE(2s2s)
445 0003 x1E 445
401 A& HIZ 2 OHHI 180,396 201,440 A21,044
01 Al£HI 179,500 200,000 20,500
SEHIISSEHEIAE FHOUSK ALY
99,500,000& 102 99,500
OEgEHEEHelAE B 50,000
OLMIEE ZHI 30,000
03 Al 201l 896 1,440 Ab44
OFHHONISXNA MY 896
402 BIZEX 20| M 99,500 0 99,500
01 QItXt=2E X 99,500 0 99,500
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99,500,000& x10t= 99,500
AL TH A Ol L KA 75,022 112,608 A37,586
BHOI2JtA SEHEANE 23 75,022 112,608 A37,586
201 et A | 19,572 16,716 2,856
01 AR 2t eld| 4,756 1,900 2,856
OsH 4,756
02 32244 14,816 14,816 0
OE 14,816
206 M= Hl 55,450 95,892 N40,442
01 =4l 55,450 95,892 AN40,442
OHi0I20tA SHEAIE 2 EH| 55,450
—Oe= 650 *200L*365 47,450
—E 2N 800& *5,000L*23] 8,000
HE 2 ZH (BB F AL L) 8,720 8,720 0
Jl=2& 4l 5,280 5,280 0
JI=&Hl 5,280 5,280 0
202 o4l 5,280 5,280 0
01 =2 AbI 5,280 5,280 0
ORAM2E2UHAH 5,280
ol 2| 3,440 3,440 0
ol 2EH| 3,440 3,440 0
203 YR =& 3,440 3,440 0




A BHATJAAE A
M HY2IGUI (S RAAIL L)
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02 HRAINAHRF A 440 440 0
OZF AL FLHI 40,0002 * 11 440
04 EN2I TR 3,000 3,000 0
ORN2IHRFAHI 250,000 * 122 3,000
NS (2 HJAAGA) 856,564 980,000 A 123,436
LHEHH XIS 856,564 980,000 A 123,436
LHE 1 eH 856,564 980,000 A 123,436
701 JIEFSIHEES 856,564 980,000 N 123,436
01 JIEtaIHE &2 856,564 980,000 123,436
OJE2aXMeldE & TESAIE 294 2l
== 856,564




